AMENDMENT OF SOLICITAT	ION/MODIFICATION	OF CONTRACT	1. CONTRACT ID					
2. AMENDMENT/MODIFICATION NO. One (1)	3. EFFECTIVE DATE 10/1 /87	0RM-87-231,		5. PROJECT NO. (If applicable)				
E. ISSUED BY CO	DDE	7. ADMINISTERED BY	(If other than Item)	6) CODE				
U.S. Nuclear Regulatóry Com Division of Contracts - AR- Washington, D.C. 20555								
8. NAME AND ADDRESS OF CONTRACTOR	(No., street, county, State and	ZIP Code)	W) SA. AMENDA	MENT OF SOLICITATION NO.				
New England Telephone	Company	•						
Attn: Ms. Mary Deluca 101 Huntington Ave., Suite 950 Boston, MA 02199			AB DATED	SEE ITEM 11)				
003001, 101 02100			10A. MODIFI NO.	CATION OF CONTRACT/ORDER				
				7_221				
				NRC-33-87-231				
CODE	FACILITY CODE		4/16/87					
	11. THIS ITEM ONLY APPLIES TO AMENDMENTS OF SOLICI							
13. THIS ITEM	ATA (If required) .108 Obligate: \$ 1 MAPPLIES ONLY TO MOD IES THE CONTRACT/ORE URSUANT TO (Specify author) T/ORDER IS MODIFIED TO F NITEM 14, PURSUANT TO T IS ENTERED INTO PURSUA Parties	6,000.00 DIFICATIONS OF COM DER NO. AS DESCRIE Wity) THE CHANGES SE REFLECT THE ADMINIS HE AUTHORITY OF FA	NTRACTS/CRDEF BED IN ITEM 14. T FORTH IN ITEM 1 TRATIVE CHANGE R 43.103(b).	RS, 4 ARE MADE IN THE CON-				
E. IMPORTANT: Contractor is not.				s to the issuing office. subject matter where feasible.)				
NRC-33-67-232	October 1, 1987 th of Work for FY88; amount by \$16,000 end the Period of B DR	rough September increasing cont .00; modify bil Performance. T	30, 1988; mc ract ceiling ling address; he following	odifying Section B amount by \$31,538.00 and incorporate changes are hereby				
Except as provided herein, all terms and conditi and effect.				nains unchanged and in full force				
15A. NAME AND TITLE OF SIGNER (Type of	r print)	IDA. NAME AND TITL	LE OF CONTRACTION	GOTTICER (19pe of print)				
STEPHANIC CAMMON 15B. CONTRACTOR/OFFEROR/	- ASSISTANT MGA ISC. DATE SIGNED	Elois J. Wig		16C. DATE SIGNED				
Aliphanie Haranne	m) 15-11-87	BY Signature	of Contracting Offic	en 13/18/87				
NSN 7540-01-152-8070 PREVIOUS EDITION UNUSABLE	30	0-105	STANDARD FORM 30 (REV. 10-8) Prescribed by GSA FAR (48 CFR) 53.243					

1: 39

.

Contract No. NRC-33-87-231 Modification No. 1 Page 2

- Under Section B Supplies or Services and Prices/Costs, Section B.1 -Description of Work is modified to read as follows:
 - "B.1 Description of Work (Service shall be performed during the period 10/1/86 9/30/87)."
- 2. The "TOTAL ESTIMATED AMOUNT" under Section B.1 is revised to read:

"TOTAL ESTIMATED AMOUNT - FY87 \$32,300.00"

3. Section B.2 - Consideration and Obligation is modified to read:

"B.3 Consideration and Obligation"

- Section B.2 Description of Work, as shown on attached Standard Form 36, is hereby incorporated in its entirety.
- Under Section B.3 Consideration and Obligation, sentence one of paragraph a. is revised to read as follows:

"The total estimated amount of this contract (ceiling) for the products/ services ordered, delivered, and accepted under this contract is \$63,838.00."

 Under Section B.3 - Consideration and Obligation, sentence one of paragraph b. is revised to read as follows:

"The amount presently obligated with respect to this contract is \$48,300.00."

7. Section F.I - Duration of Contract Period is revised to read as follows:

"g. | Duration of Contract Period

34

This contract shall commence on October 1, 1986 and end on September 30, 1988 with one twelve-month option period."

8. The following clause is hereby incorporated as Section H.3 of the Contract.

"H.3 Option to Extend the Period of Performance

This contract may be extended for one additional twelve month period at the option of the Government by the Contracting Officer. The Contracting Officer will give preliminary written Notice of an intent to exercise such option ninety (90) days prior to the last day of the period of performance (such preliminary Notice shall not be construed as an exercise of the option) and will not bind the Government to exercise the option. This Notice will include the Governments' estimate regarding the amount of affort required for performance under the option period. Any revision or additions to the statement of work will also be included in the Notice.

Contract No. NRC-33-87-231 Modification No. 1 Page 3

Upon receipt of the Notice of intent to exercise the option, the Contractor shall submit to the Contracting Officer, within thirty (30) days a cost estimate for the proposed extended period of performance. This cost estimate shall be prepared in the identical format as the original cost proposal.

If the Government exercises the option, the total duration of this contract, including the exercise of the option, shall not exceed thirty-six months."

 The NRC billing address as noticed in Item 12 of SF26 is revised to read as follows:

"U.S. Nuclear Regulatory Commission Office of Administration and Resources Management Division of Accounting and Finance - GOV/COM Accounts Washington, D. C. 20555"

3

CONTINUATION SHEET

REFERENCE NO. OF DOCUMENT (TO CONTINUED

NRC-33-87-231

PAGE

PAGES

NAME OF OFFEROR OR CONTRACTOR

.

ITEM NO.	SUPPLIES/SERVICES	YTITMAUO	UNIT	UNIT PRICE	AMOUNT
	Section B - <u>Supplies or Services and</u> Prices/Costs				
	B. 2 Description of Work (Services shall be p	rovided f	ar +1	a partial a	
	1987 through Septer	ber 30, 1	988).	ie period oc	cober 1,
	The Contractor shall provide telecommunica- tion services including, but not limited to, circuitry, installations, removals, mainten- ance and moves of telephones and other associated equipment in support of the Emergency Notification System and Health Physics Network at various nuclear power plants. Additionally, the contractor shall provide circuitry in support of on-going NRC sponsored research projects at selected universities. The locations covered under this contract and estimated costs follow:				
		Months		Estimated Monthly Charge	Amount
1	Massachusetts Institute of Technology				
	Bill No. 617-100-1606 (MIT-seismic)	12	EA	\$ 442.67	\$ 5,313.00
	Bill No. 617-100-2100 (MIT-Seismic)	12	EA	\$ 913.68	\$10,965.00
	Bill No. 617-100-2504 (MIT-Seismic)	12	EA	\$ 172.26	\$ 2,068.00
	Bill No. 617-100-2505 (MIT-Seismic)	12	EA	\$ 159.64	\$ 1,916.00
2	Vermont Yankee Nuclear Power Plant				
	Bill No. 802-200-1461 (ENS)	12	EA	\$ 50.00	\$ 600.0
	Bill No. 802-257-9209 (HPN-TSC)	12	EA	\$ 49.48	\$ 594.00
	Bill No. 802-257-9231 (HPN-EOF)	12	EA	\$ 49.48	\$ 594.0
3	Seabrook Nuclear Power Plant				
2	Bill No. 603-400-1794 (ENS-EOF)	12	EA	\$ 171.46	\$ 2,058.0
	Bill No. 603-474-2390 (HPN-TSC)	12	EA	\$ 31.03	\$ 373.0
	Bill No. 603-436-6995 (HPN-EOF)	12	EA	\$ 31.03	\$ 373.0
4	Yankee Rowe Nuclear Power Plant Bill No. 413-424-5465 (HPN-TSC)	12	EA	\$ 16.90	\$ 203.0
	Bill No. 413-424-5465 (HPN-ISC) Bill No. 413-625-6061 (HPN-EOF)	12	EA	\$ 16.90	\$ 203.0
	10111 No. 415-025-0001 (M.H. 2017			and all a straight for the straight of	
5	Pilgrim Nuclear Power Plant				
	Bill No. 617-746-8523 (HPN-TSC)	12	EA	\$ 18.36	\$ 221.0
	Bill No. 617-746-8563 (HPN-EOF)	12	EA	\$ 18.36	\$ 221.0
6	Maine Yankee Nuclear Power Plant				
6	Bill No. 207-882-9473 (HPN-TSC)	12	EA	\$ 40.22	\$ 483.0
	Bill No. 207-882-9473 (HPN-ISC) Bill No. 207-882-9489 (HPN-EOF)	12	EA	\$ 40.22	\$ 483.0
	DITT NO. 207-002-3409 (HEN-DOF)			A CONTRACTOR	

STANDARD FORM 36 (REV. 10-63)

STANDARD FORM 36, JULY 1966 GENERAL SERVICES ADMINISTRATION FED. PROC. REG. (41 CFR) 1-16.101

CONTINUATION SHEET

NRC-33-87-231

REF. NO. OF DOC. BEING CONT'D.

OF

PAGE

NAME OF OFFEROR OR CONTRACTOR

. .

EM NO.	SUPPLIES / SERVICES	QUANTITY	UNIT	UNIT PRICE	тирома
7.	Estimated One-time Charges for the Above: (Includes installation, removals, maintenance and moves for all of the above locations and telephone lines)				\$_3,670.00
8.	Tolls: (10 lines X \$10/Month)	12	Mos.	\$ 100.00	\$_1,200.00
	TOTAL ESTIMATED AMOUNT FOR FY 1988				\$31,538.0
	TOTAL ESTIMATED CONTRACT AMOUNT (Years 1 and 2)				\$ <u>63,838.0</u>
	These services shall be provided in accordance with the rates, terms and conditions set forth in applicable Tariffs as filed with and approved by the Massachusetts Public Utility Commission.				
	•				